1330

1 |

/170

1530

2736

|

E EXIigOo

www.exigo-uk.com

PRODUCT: X70-1210-2740 - X70 7m Bridge Rig - BOM
MATERIAL: Mild Steel

FINISH: Polyester Powder Coat

© Exigo. All Rights Reserved.

SNIMADE IN
ralBRITAIN

4@

4
3
2
>
L
ITEM NO. PART NUMBER DESCRIPTION QrTY.
1 0-950 31.75x 1220 x 3mm 12
2 70-UPR-2740 70X70 UPRIGHT 2740 8
3 BJ-3000 BRIDGE JOIN 3000 4
4 JG-32-1100 JOIN GUSSET 32 DIA X 1760 4
5 JG-50-1100 JOIN GUSSET 50 X 50 X 1100 2
6 JP-32-400 JOIN PLAIN 32 DIA X 400 8
PART NUMBER DESCRIPTION QTY.
100208 M16 Nyloc Nut 76
100210 M16 Washer 152
100218 M16 x 40 Hex Bolt 12
100742 70x70 End Cap 8
201157 M16 x 120 Hex Bolt 64

14/12/2022

PAGE 1/1



	Product OverView
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


